
133-PISAREK

a
2

a
2

a
2

b
2

b−a
2

ℎ

A B

CD

E

F

G

H

J
�

|AD| = |BC| |AB| = b |CD| = a b > a
|]BAD| = |]ABC| = �
|AE| = |EB| |BF | = |FC| |CG| = |GD| |DH | = |HA|
obliczyć PEFGH
a, b ∈ ℝ+; � ∈ (0°, 90°)
|DJ | = ℎABCD = ℎ
PAEH = b

4ℎAEH ; ℎAEH = ℎ
2 (z tw. Talesa dla △AJD); analogicznie dla △EBF , △GCF , △HDG

PEFGH = PABCD − (PAEH + PEBF + PGCF + PHDG) = (a+b)ℎ
2 − ( bℎ8 + bℎ

8 + aℎ
8 + aℎ

8 ) =
(a+b)ℎ

2 − (a+b)ℎ
4 = (a+b)ℎ

4

|DG| = |EJ | = a
2 |AJ | = |AE| − |EJ | = b

2 − a
2 = b−a

2

tg� = 2ℎ
b−a (z △AJD); ℎ = (b−a)tg�

2

PEFGH = (a+b)ℎ
4 = (b+a)(b−a)tg�

8 = (b2−a2)tg�
8


